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O—2x ABARZI—R O—2x ABAXRZI—R
_ 4,200/ 5 800
FII(R) (4.620M) (6,380M) - -
M. vHR(EE) | M.ES S v— 4,800/ 6,400
ABR)TFoT L—iN9R (5,280M) (7,040M) - —
: 5 000M 6.600M 7 000M 8.600M
FI9 * Ske i (5.500M) (7.260F) (7.700F9) (9.460F)
FI7 * 3kg
M.A v R * Tke sk 5 500 7 100M 7.700M 9,300/
TFLUF T RRRY [ 185 (6,050M) (7.810M) (8,470F) (10,230M)
SxvhSvtIL(5E) 5,800 7 400 7 500M 9,100/
E—5 L (6.380M) (8.140M) (8.250F) (10,010M)
HRAS=F> 6,000/ 7 600M 8.000M 9,600/
SREIY [ a—%— (6,600M) (8.360M) (8,800F) (10,560M)
TILF—X | J—T+4—4H
YESTr % Tke 6,000 7 600M 8.300M 9.900M
SxvhSyt L (6.600M) (8,360M9) (9.130M) (10,890M)
S—X— | RF=—X 6,500 8.100M 9,000M 10,600
J—RL * Bkg 3k i (7.150M) (8.910M) (9,900F9) (11,660M)
HIRFA YT ATYT 6,800/ 8.400M 9,000M 10,600
Fp\YT (7,480M) (9.240M) (9,900M) (11,660F)
J—KL * Bke 6,800 8.400M 9,500 11,100/
M.SaFH— (7,480F) (9.240M) (10,450F) (12,210M)
s/ EBE  x10kekiE 6,800 8 400M 10,000 11,600/
W. 3—%—  x10kgki (7,480M) (9,.240F9) (11,000/) (12,760M)
ELaroy—+
L | HZE * 10kg 7,200 8,800M 10,500 12,100M
W.a—%£—  x10ke (7.920M) (9.680M) (11,550F9) (13,310M)
Aavh—/ Eavh— 8,000/ 9.600M 10,500 12,1004
ST LFa— (8,800) (10,560M) (11,550F9) (13,310M)
BILASTY 8,500 10,500 11,500 13,500
L.LRY—/A— (9.350M) (11,550F) (12,650M) (14.850M)
et 8,800 10,700 12,500 14,400
(9.680M) (11,770F) (13.750M) (15,840M)
U 11,000/ 13.100M 16,500 18,600
: (12,100) (14.410M) (18.150M) (20.460M)
~ 11,500 13,6004 16,800 18,900
TPT—NTIT (12,650M) (14,960M) (18.480F) (20,790F)
FE () 12,000 14,100 16,500 18,600
I5yka—F R (13,200) (15,510M) (18,150M) (20,460M)
i 13.800 16,000 22.000M 24,200
N—=—X (15,180) (17.600M) (24.200M) (26,620M)
T L FURY—Ry L 15,800 18,200 24,000/ 26,400
or STSRu—Re )L (17,380M) (20,020M) (26,400) (29,040M)
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